Econmmics 302 EF
Microrconomic Theary
Fall 2005, Dr. Shickey Liu
Midterm Exam 2

To peceive FULL OREDIT on any question, you MUST show ALL WORK

Math Feview: Lot a, b, and ¢ bo constants,
» 2th - gtth
- 5- = go=b
axf=1]
srt=L
o [25)F gk
» Y = (ay)*
® If fiz) = ar', then f'(2) = abet~!
o I fiz) = ¢, then flz) =0
= I fiz) = glz) & hiz), then Fiz) = g'l=) £ Wiz}
= If fiz) = glz)hiz}, then Fiz) = gli=phiz) + pl=)h'iz)
* U fi) = $2, then f(z) = CElelgebl

s I fiz) = glh(x]), then f(z) = g'(A}A"(2)



1. |18] Short Answer Cussthons:
(&) [] Cloarly defiee the difference betwesn the “Short Fun® amd the “Long Fun”,

SR Acwmew ooe of e wpeds  Ode feedh
R Bl npude Don Be  uOsied
i) 15] A firm fuces the following techeology: ), 25) = 22y 452y, Ts the producthon plas (21, 22, 4)
= (24, 30) techiokpbeally fmaibbe? Shom ol work

2z a= oEyr BAd= o4 > A0

Lues

(c). |8] Consider s firen facing the tschnokgy reprsssated by: f{z;, 75} = xizd Does the technology
[ncing the firm exhibit incroasing, docrensing, or constant returns 1o soale? Shew yome sramer
onaditicolly, do nof pluy in nemders.

fla= 2= (22 )( 2oy
= gfah A
= a}ﬁla < aé
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(] |4 A profit-meadmizing firm uses o inputs (3,0} G0 prodieee one outpat (). Sappose tis
firm is operating in the short run, sech that the level of inpat two is ficed. Suppose a0 the
eurrent production level: px MPy > v, What can the firm do o incresss profits? Explain.

Inpere O Oraoure of oC, W tio  pudlction
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2. [18] A consumes's domand fasetions for two goods e 2 -Uaudtg=g.

{n] |8} Clearly define whot it mess: for o good to be an “Tofsrior Good”.

I incons  moecses G demond e BNS 0000 decrenses

(s} [8] Graphically dlustrate the consamr’s

0, What i the

Lovenrss Dernsard Curve for Good TWO.
shope of this curve? Keep gour answer genernl, do rof plug o pnemsbers. Make stre you lakel all
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(e} [B) Graphically Slustrate the consumer's Price Offer Curvs for Good TWO, Keep gour ansiver
general, do ol plug i vumbers, Muoke sure gou lobel of] onis.
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i [l-l|.ﬂ.ﬂrml.l.uutmhpuhl,:1E[EM]ﬂq-[mMm}.wmmmFutm.Thu
technokgy facing the fem le: f(z1,74) = drizy. Lot (3 wi,uy) be the per anit price of labor,
capital, and outpul, respectively,

() 4] Suppose the firm s operating B the SHORT RUN, soch that Capilal 8 fixed ot 1 onits, To
maxbmize , how many units of labar woidd this Brm chocse to o7 Kety gour onamer

jemernl,
R oprd Bn B D) = 4xc®
MP, = oc, %
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(b} [8] Suppose pow the firm is opemting in the LONG RUN, To moximize profits, how mady anits
of Inbar and capital would this firm choose to use? Show all work. [If needed: MPy = =, 1a);
MPy = 22fe ) and THE = - 2
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4. [2%] Starbucks uses £1 = {shita of expresso) and T = (oaps of milk) to make y = {cups of lnttes).
Suppeos: the technology Starhacks uses b represented by fimy, w2} = Min{ e, 29}, BEach shot of
expresso costs §1, ench cup of milk costs §2, and asch cup of latte costs §5.

[} [12] To produce 5 Inttes in the least costly way, how muny abods of expresso (1) and how many
eups of milk (x5] should Starbuciks use?
ot =0

ak=mn

(b] J10) Om the same graph, graphically illastrnte the ssocisted soquant and jsocost lines that
pans through Starbucs’ cost-minbnizing choice of mputs (2], 23) b produecing 50 Isttes. Make
#ire pom [abel mbich bne i the (voquont, which line is the Tsorost, ail axis, intercepls, kinks, {f
appdinahie.

toer of (00,@Y = 00D + () (=)= 200
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G [28] A perfectly competities, profit-muodmizing flen ees the folbowing total cost Famethon:
Cly) = o' — 273 + 100y.

(m) [12] Derive the firm's Aversge Variable Cost fanction {AVC(g)), Aversge Fixed Crat function
LAFCiy)), aesd the Masginal Cost Function {MC[y)),

ANCCy) = '-f'- Hy voo
ARCIYY = ©
MUY = Ay’ - =yt oo

(s} [10] Suppese the market price for each unit of oatpol s 3140, Caleulste the firm'n profits and
procacer's surphis.

P = 46)- 5HE)+1e0 = A0
Pofit= PY-Cy) = 38350 - 924 = 216

Poduurs Suplus = By-Culy) = 2840 -gzd = Q1

fc} [3] If the frm is suppiyving 5 units of output. What 18 the currest morket e’
-3
P = 4(5) - =)+ 0O

= BBo

() (3] Ower what price songe should this firm ehoose 1o stut down? Nmeric Benge
p{nm.dmt. —% d'—%: 351—'1?"‘1:}
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St Towon b AVC(3) = 46
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Extra Craddit Question [10 Points|:

It & oot possible for & good o be observed s an “Inferior Good" over every possible income kgl

Clesely explhin why
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